Domain Assessment ¢ Statistics and Probabllity

1. Mr [singivesis class a quz every Monday. He mndomiy surveyed soime of Jus students to sea if
there vias a relationship between weekend hours spent walching TV and quiz scores. Mr. Jain's
data are shawn in the 1abie below.
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Which of the scatter plots below best represents Mt Jain's data?
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2. Wheholthe scaner plats below best

shows clustering of tha data?
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Malii 15 3 reat estale agent. He crealed

ascaiter plot 10 @xarne the ielationship
between the size of a home and ils price,
as shown below.
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‘Wh.ch of the lollawing siatemenis best
desciibes the dala n Malik’s scatter plot?

>

The data show a posive nonhinear
assocation with dustenng and

oulliers,

Tha data show 3 posilive hnear
assoqation wilh no chsteang

ar culiers,

The data show a pasitive

knear

assection with no dlusleang, but

with oulliers

Thie data show a negatve Encar

assoctal on with clusienng, but with

no outhers.
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Whuch of the scatier plols below best
represants a positive linear assodiation for
the data?
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5.

The owner of a car dealership cecorded
the ages and selfing prces of cars sold
over one weekend at the dealership.
She displayed the datain a scatier plot
and then drew a line of best lit, as shown
below.
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Which statement i5 true about the line
of best it inthe awned's scatler plat?

A. Thedalado not appeartohave
alinear associalion, 50 a line of
best fit1s not an appropriate madel
for the data.

B. Theline of beit fit does nct show the
corect knear association.

C. Theline of best fit shows the comect
linear agsociation but does not
include enough data points.

D. Theline ol best fit shows the correct
linzar associatton and closely models
the data pouis. -
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Wiich scatter plot shows ihe lina that best 7

fits the given datoa?
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The presdent of a un on of Ractary
employees used a —ndom sample

lo collect data on the number of years

of experience and the houily wages of
the Bactory employees. She then crealed
a scatter piot with the data and drew aiine

of best [it, a5 shown below,
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Wiuch of the fallowing stalements best
describes the meaning of the pmlercept
of the Ine of best fitin the scatter plot?

A. Afctory employee’s houdy wage
increases by about 30 BO for every
addilional yeas of experience.

B. Afaclory employee valhno
expedience will slant with
an howly wage of about $10 00

C. Afactory employee w.lh more than
10years of expanence will have
an hourly wage of more than $18 00,

D. The maxmum houtly wage at lhe
faciony 15-$24.00.
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Emily surveyed a random sample of adults in her neighbarhood. She asked each person whether B. Which scatier plot does not show the line that best fits the gven data?
ha or sha is a vegetarian and whether he or she recycles regulatly. The tespanses 1o Emily s survey

are shawvn in the table below. In the table, a yes answer is marked by a Y and a no answer A. 10r . c w
15 matked by an N, 1 of 8
4 “ m = E ol
Vegearlan? | NN | Y[N{N|n]|Y|[vin|nln]y[ninin ” ) “
Recyela? yiviniy|yl[vlvlvfulvivl{vy|v|v|v B
| 4 2 4 6 8 10 ¢ 2 4 6 8 w0
Which two-way table besl displays Emily's dlata?
! Feys Ry B. D. 10
A Vegetarian Not Vagetarian Tota! B 8
Recycla 10 3 13 6 &
Not Recycle 1 1 23 4 4
Total L) 4 15 [ 2 2
«
1 0 2 4 8 8 10 0 2 4 5 8 10
8. Vegatarlan Not Vegatarian Total
Rocycla 4 9 13 :
NotRocycle " > 2 10, Asparnt of a project on volmg pattems n Akron, Mr. Eng askad his soaal siudies class 1o survey
adulls 3 readom abaul whethey they had voted in the most recent mayoral and presidential
L 4 n 15 elections, The sesults of the class’s survey are shown i the lable below.
i President: | President: | L
| c Vagstarlan Za»c-ui‘|.u-_!_ Total Yes No
Recycle 9 4 13 ! Mayor Yes 143 177 160
_ HNot Recycie 2 0 2 ; Mayor: No 105 %0 295
1 4 15 Total 248 207 455
Based on the data in the table, wiich of the following stalements s true?
Not Vegetarian Total ot
10 = A. Maie peogple valed lor president than valed for mayor. Mu_mﬂu
e
1 2 B, More people voted for mayor than voled for president. m =
0
LL 15 C. Thesame number of people voled for president as voled lor mayor, 3 &

g
¢

B
P

D. More people voted lorboth president and mayor than did not yole atall.
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WVivian spend the surmimer warking

ata bicycla shop, One week, the cwner
asked herlo collect data on ihe ages
and selling pucas of the bicycles sold
that week. Vivian displayed her datain a
scater plat and drew a ine of best fil, as
shown below,
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Accouding to Vivian s iine of best fit, which
al the iollowing stalements s trua?

A. Thereis no cosrelation between the
age ¢l a bicycle and its sefiing pace.

B. Theresa corelstion between the age
ol ab cycle and its selfing poce, but
i 15 nonhnear.

C. Thesellng poce of a bicycle diops
by about 380 per year.

B. Theseling prce of a buicycle tises
by about $60 peryear.

12, The owners of a munor league baseby
team callected data to see how many

oftheir team's fans Iraveled to the leam;
away games. The data are displayed i,

scalter plot below.
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Which of the followng stalements best

describes the data in tha scatter plot?

A. Thetedoes nol seem to be any

assotation between miles traveled

and fan attendance.

B. There seems 1o be anoalinear

association between miles tavoled

and Bn allendance.

C. There seems to be a posilve linear

assaciaton in the dala. The more

fans the team has, the farther they will

travel for 3 game,

-I. mmet, :
4 ..w?m_. ?EnM_unsn_ datzon lemperatu and sales of lemanade. Gus and Nick then displayed the s
I ' gamwnascatier plot and drew 3 line of bestfit, as shown below.
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Based on the dalain Gus and Mick's scatler picl, what is the effect on lemonade salas afan
increase in temperluiz of 1 degree Fahrenheil?

A. lemonade salesincrease by a little movse than $3 CO.
B. Lemonade salesinciease byafitle loss than $3.00.

€. lemonade sales diop bya liflle less than $3 00.
D. Thete s no conelabion & the data, so temperature does not affect lemanade sa'es.

Gus and Nick run a lemonade stand in ront of thair fanuly's home. For one week,

. Thete seems o be a negalive inear

associabion 0 the data. The farther
that fans need Vo travel for a gome,
the lewer fans attend the game.




15,

Instrument _Enu"i. L | o
AtLsast BS 69% 56% 64%
Less Than 85 3% 44% 36%
Total 100% w00% | 100%

Based on the dala in the table, which of Ihe faltoving statements is trye?
A. Students who play a musical instrument are less likely than students wha do not play

amusical instrument (o have a mean test score of al beast 85,

Studtents who play a musical nstrument are more kkely than students wha do not play
amusical instrument Lo have a mean fest score of al least B8,

Students who play a musical instiument are as likely as students who de not play
a musicalinstrument 1o have a mean test scare of at least 85,

Sludents who do not Play a musical instrumant are lazs tkelylo have 3 mean test score
of at least 85,

Hayes Middle School is conducting a survey of students lo choose a new school mascot.
The choiceis either a lion or 3 cardinal, The results of the sucvey aie shawn in the Gble below.

Boys Giris | Total

Uon 270 268 536

Cardinal 193 269 462

Total 463 537 1,000
Based on the datan the table, which of the lollowing statemenys is lue?
A. Theteare fewer boys who prefer afion than there ate giris who prefer a cascingl,
B. More gifs prefer a lion than prefer a caidingl,
€. Thanumber gl boys who prelfer a lion is about equal to the number of girls who prefer a fion,
D. The number of boys who prefer a cardingl g about equal to the nymber of girls who prefer

acandinal,
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16. Acommodities trading company tracked the pce changes for saybean hulures and oals fulures

avera period of weeks. The dala, along with a line of best fit, ave shown below

Commodity Prica Changea
n
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g
Prica Changes
S oty

What s the y-iniercept of the line of best fit for the commaodilies pnce change data? What does

the yintercept mean in the cantext of the data? Explain your answer.
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17. Aspan of a soence experiment, Mr. villalobas asked his class 1o collect data on grasshopper
length and jump height. The class’s dala are shown in the 1able belove.

Grasshopper Length and Jump Helght

Length {in cm} Jump Helght {in em)
25 a8
1.5 30
a0 55
0 22
25 51
a5 70
20 45
40 75
1.5 32
30 B4

Use the data in the table to creale a scakier piat. Be sure 1o gra tha scatier plot a tila and to lzbel
the anes and scales.
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18, Angelique wanted 1o see il there was any refationship behween the number of siblings ber

classmales have and theit average test scores. She surveyed her classmales and then used the
dala to create a scatter plot, including a line of best fit, as shown below.
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Assess whelhet Angelique’s line of best i isa good model faz tha data in the scatter plot.
Exphan your answer.

Is a line of best fit a reasonable way 10 madel Angetique s data? Explain your answer
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19. Arndomly selecied group of adu ts was surveyed about whether they exercise regulaily and 20. lupe had heard Ihat lefi-handed people are more artisti¢ than nght-handed people. She

whether lhey have annual checkups with thew doclors. The results of the survey are showin 1in the
\ surveyed students at her school at random to ask whelher they were left-handed and whiether
table below, in the table, a yes answer s mathed by a ¥ and a noanswer is marked by an N, f they look anart class, The results of Lupe's survey are ug:”:..m table below.
Exercisa NIY [y ]YIYENININ]Y Y Infy ]y In]y Laft-handed Right-handed
AnmuatChedup [y vy INJy |y Ny InInfylv]viv]nly g At Class 5 39
] No Art Class 7 49
A Create d two-way table for the survey data. Total : 12 88
A, Useihedatainlupe’s table 1o create a two-way table with relalive frequencies.
B.  Based on the survey data, ara pecple mam likely 10 have an annual checkup il ihey exermise
regulady? Explain your answer.
I 8. Dolupe’sdata support the idea that left-handed people are more atishic than right-handed
people? Explain your answer.
o = i = I m,..ﬂ_.q. 3
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